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oleoet 1,626,900 1,349,820 277,080
2 664,000 664,000 0
[ 174,800 174,800 0
Al 788,100 511,020 277,080
olsd o2 2 s 1,581,586 1,321,506 260,080
2 664,000 664,000 0
[ 174,800 174,800 0
Al 742,786 482,706 260,080
(B )HIIQISEHS ALY & 22l 254,040 2,040 252,000
401 AlEHIZ =20 252,000 0 252,000
01 Al&HI 252,000 0 252,000
DOoIStH=RNI| AX  42,000,0002 * 6IH A 252,000 0 252,000
(B3:)0D1 2 SIS orA 22l 100,621 97,621 3,000
201 Yty 95,871 92,871 3,000
02 2229 5,151 2,151 3,000
O Al & ZHI S X H] 1,791 1,791 0
OXS X EIIA CO/HCE A DI
9,424 ,0002 * 6% 566 566 0
OXNSAHSIIA HASHD|
13,510,0002 * 6% 811 811 0
O%H A2 DI 6,886,0002 * 6% 414 414 0
OXtatH ety (=461, 2=24]) 3,000,000 3,000 0 3,000
(Hatisd A 2ZAI235 42,253 37,173 5,080
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401 AIEHI L 20 136,000 127,000 9,000
01 A& HI 136,000 127,000 9,000
OoHEd S&H ex= 450,000& » 20 9,000 0 9,000
(Z2)Hga =el 2,523,938 2,805,896 A 281,958
301 et d = 112,297 101,590 10,707
NJIEEd=s 112,297 101,590 10,707
OZANJ3UHEE R 2,141,400 = 59 10,707 0 10,707
307 21201 A 140,894 225,120 A B4,226
02 2IHFAEXS 1,000 0 1,000
OFLUZAIE L= 1,000,000 1,000 0 1,000
05 RIZ2t2Et = 139,894 225,120 A 85,226
OMEHII= ?IEXell] 19,774,000& 19,774 105,000 N 85,226
308 XXM SOl A 234,671 443,110 A 208,439
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24,6003 = 3,315 81,549 89,790 A8, 241
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32,2703 = 4,745 183,122 353,320 A200,198
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oxzuz2ex¢ 37,819 34,667 3,152
OANM2ARZRE 37,819 34,667 3,162
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= A
N = 0 &8 AFH Y & A AN
20148 &= =& 1 g L3I A M A
2AN: sE2A2E ot A& D
M. St AlEHN
SHel FEMLAY (el &e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
AR GHAIL D 26,462,869 25,132, 155 1,330,714
2 500,000 500,000 0
Al 25,962,869 24,632,155 1,330,714
St A& A 48,000 20,000 28,000
2B ALY 48,000 20,000 28,000
(H=)HIEQY &AL 48,000 20,000 28,000
201 LBt 2,000 0 2,000
02 2229 2,000 0 2,000
O2LLE . SA . QLEH2A4T X HIEL2E H2HA
8 ®MIQ2 80,0008 * 2504 A 2,000 0 2,000
307 QI2+0| & 26,000 0 26,000
05 DIt er=2 26,000 0 26,000
O2LLE,SAHEH2A4T X HIEL2E H2Al
o Qe 22 1,040,0002 * 2500 A 26,000 0 26,000
St Ald 22 7,258,886 7,245,886 13,000
5l L =2 HAANE 292 1,317,334 1,304,334 13,000
(H)N=2a22H2AAE 29 2 SKze 763,839 750,839 13,000
201 Yty 175,333 162,333 13,000
02 2229 173,821 160,821 13,000
OFIIQ2 BE= 119, 113,000 119,113 106,113 13,000
HMSPAH (BHB=2L G2 AA) 140,418 101,648 38,770
Jl2 3| 140,418 101,648 38,770
(M) =23 (GtaL=aH S Hel) 140,418 101,648 38,770
101 Q1A H 42,650 0 42,650
01 84 42,650 0 42,650
O (HALA) 42,650 0 42,650
OzW2L2+Y
8,754 x 4% x 80AIZt * 5% 14,007 0 14,007
oofn2R4g
2,9182 * 8AI2t * 4% * 153Y 14,287 0 14,287
Ogaxag 70,3702 * 4% « 51 14,356 0 14,356
201 LBt 72,160 73,160 A 1,000
01 AL 22| H 70,900 71,900 A 1,000
O3HI(II=ZHI) 5,237,000 5,237 6,237 A 1,000
202 04l 18,960 21,060 A2,100
01 2U oyl 18,960 21,060 A2,100
OJ=2ge =XOH(JIEZH) 18,960,000 18,960 21,060 A2,100
203 YR EXH 3,756 4,536 AT780
04 BNSIAR2FXH| 3,000 3,780 AT780




SA: BHBLAZR GEALD
H: HH2IAH(BF 2222 ot=AE D)
& 123l (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OFRNEBIYRFAE OaEZ 3,000 3,780 AT780
O&& 302l0lat 3,000,000 3,000 3,780 A 780
HRas(sd2ees dt=Al4n) 10,081,189 8,830,245 1,250,944
HEHHXZ 10,081,189 8,830,245 1,250,944
(ZR)IIEHSE3ANEES 10,081,189 8,830,245 1,250,944
701 JIEISI AN E 3 10,081,189 8,830,245 1,250,944
01 JIEtel HE &= 10,081,189 8,830,245 1,250,944
O&EWSHI HEL2E MITAIE XA

1,250,944 ,000& 1,250,944 0 1,250,944




